Evolution Test: 





Name: ____________________
 Multiple Choice Questions:
1. Darwin proposed that the mechanism behind evolutionary change was

Heterozygosity

Genetic drift

Inheritance of acquired traits

Polymorphism

Natural selection

2. In a population of wildflowers, the frequency of the dominant allele for red flowers is 0.8. what is the frequency of the recessive white allele?
A. 0.8

B. 0.64

C. 0.32

D. 0.2 

E. 0.16

3. Referring to question 2, what is the frequency of homozygous red flowering plants in the population?

A. 0.64

B. 0.48

C. 0.32

D. 0.16

E. .04

4.  Referring to question 2, what is the frequency of a homozygous white flowering plant in the
population?

A. 0.64
B. 0.48

C. 0.32

D. 0.16

E. 0.04
5.  Features that increase the likelihood of survival and reproduction by an organism in a particular environment are called 

A. genes.

B. fitness.

C. mutations.

D. adaptations.

E. selection.

6. The gene pool includes 

A. all of the fitness within a population.

B. all of the individuals within a population.

C. all of the mutations within a population.

D. all of the adaptations within a population.

E. all of the alleles of genes within a population.

7.  A decrease in genetic variation caused by a drastic reduction in population size is called a 

A. founder effect.

B. Hardy-Weinberg effect.

C. bottleneck effect.

D. polymorphic effect.

E. adaptive effect.
8. The genetic contribution of an individual to succeeding generations, compared with that of other individuals in the population, is known as 

A. variation.

B. microevolution.

C. macroevolution.

D. fitness.

E. adaptive makeup.

 

9.  Darwin proposed that natural selection occurs in an environment by 

A. favoring heritable features that make the organism better suited to survive and reproduce.

B. producing a constant number of offspring while in that environment.

C. surviving for a fixed amount of time.

D. resisting the environment and keeping the environment from changing.

E. favoring those individuals with the most favorable acquired characteristics.

 


10.  The Hardy-Weinberg equations only hold true, that is, a population is only in equilibrium 

A. when immigration in and out of the area are held constant.

B. when changes only take place over long periods of time.

C. when it includes episodes of extinction.

D. when the population is designed to survive in new habitats.

E. when all of the Hardy-Weinberg assumptions are met.

11.  "The inheritance of acquired characteristics" proposal was put forward by 

A. Darwin.

B. Lamarck.

C. Wallace.

D. Founder.

E. Hardy-Weinberg.
 12. The frequency of a particular allele or a wanted characteristic within a population can be changed, over time, by 


A. genetic outflow.

B. large population size.

C. selection.

D. inheritance of acquired characteristics.

E. random mating.

13.  The genetic preservation of the features that increase the likelihood of survival and reproduction of some individuals within a population is called the process of 


A. natural selection.

B. creation of new species.

C. genetic drift.

D. outcrossing.

E. increasing evolutionary resistance.

14.   Domestication of dogs has led to 

A. a variety of homologous structures.

B. a variety of phenotypes.  

C. a variety of mutations

D. a variety of analogous breeds.



E. many different species.

15.  Hardy-Weinberg pointed out that the original proportions of the genotypes in a population would remain constant from generation to generation if certain assumptions are met. Which one of the following is not a Hardy-Weinberg condition? 
A. The population is very large.

B. No gene flow occurs.

C. No selection occurs.

D. Random mating occurs.

E. No polymorphic loci exist in the population.
16.
For a gene with two alternative alleles, a (frequency p) and a (frequency q), the term in the algebraic form of the Hardy-Weinberg equilibrium for the heterozygote genotype frequency is 

A. p2.

B. q2.

C. 2pq.

D. (p+q)2.

E. 2Aa.
17.  Which one of the following is not an agent of natural evolutionary change? 
A. mutation

B. migration

C. genetic drift

D. non-random mating

E. artificial selection
18.  About 80% of the alleles present in thoroughbred horses can be dated back to 31 known ancestors from the late eighteenth century. As a result, one would expect  
A. low rates of mutation.

B. many polymorphic alleles.

C. little variation in physiology and behavior.

D. Hardy-Weinberg equilibrium.

E. random mating.

19.  The total of all the alleles of all the genes in a population can be thought of as 
A. an allele mixture.

B. a gene pool.

C. a genetic melting pot.

D. a genome.

E. variant genes.

20.
Cheetahs have been through a genetic bottleneck; evidence for this is that 
A. little natural selection occurs in this species.

B. the body is long, thin, and graceful.

C. there is very little genetic variability.

D. these cats are members of an endangered species.

E. they originally came from small areas of Africa.

21
Natural selection varies the shape of the beaks among Darwin's finches in response 
A. to the available food supply.

B. to the available nest building material supplies.

C. to the availability of potential mating partners.

D. to presence of ectoparasites on their feathers.

E. to the need to improve their feather preening abilities.

22.
A technique used in dating a rock can be used to accurately predict the age of the fossils occurring in the rocks. This technique involves 

A. fossil dating.

B. successive rock layering.

C. radioactive isotope decay.

D. structural geology.

E. developmental geology.
23.  Industrial melanism is a term describing 
A. the color change induced by living in industrialized areas.

B. the darker moths having higher mutation rates because of industrialization.

C. the evolutionary process in which initially light-colored organisms become dark as a result of natural selection.

D. the darker moths having higher reproductive success because of their pigmentation.

E. the widespread implementation of pollution controls.

24.  The evidence for industrial melanism as being due to an increase in the dark allele was provided from field tests carried out by 
A. Kettlewell.

B. Lamarck.

C. Darwin.

D. Lamarck.
25.
Darwin concluded that evolution was at work by studying the shapes of 
A. seeds.

B. malarial parasites.

C. peppered moths.

D. hemoglobins.

E. beaks of finches.
26.
The shape of the beaks of Darwin's finches, industrial melanism, and sickle-cell disease are often cited as examples of the process of _______________ leading to evolutionary change. 
A. artificial selection

B. coevolution

C. intelligent design

D. founder effect

E. natural selection

27.
Progressive changes in fossils of different ages provides one of the strongest lines of evidence for 
A. extinction.

B. evolution.

C. coevolution.

D. adaptation.

E. mutation.

28.
In the case of the toothed whales, the fossil record 
A. shows they evolved from fish.

B. shows they evolved from swimming dinosaurs.

C. shows they evolved from a land mammal with hooves.

D. has fragmentary evidence that cannot be explained.

E. has no evidence about how they evolved.

29.
Structures that are derived from the same body part in a common ancestor but may have different appearances and functions are called 
A. analogous structures.

B. homologous structures.

C. vestigial structures.

D. embryonic structures.

E. homozygous structures.

30.
The fins of fish and whales are examples of structures that resemble each other and have similar function, but are the result of parallel evolution in separate lineages. These structures are called 
A. analogous structures.

B. homologous structures.

C. vestigial structures.

D. embryonic structures.

31.
Which of the following is not a vestigial trait in humans? 
A. ear-wiggling muscles

B. muscles that make body hairs stand on end

C. fingers

D. appendix

E. wisdom teeth

32.
Which of the following is an example of convergent evolution? 
A. A.. Australian marsupials and placental mammals of other continents

B. B..  analogous organs of horses, antelopes, and deer

C. homologous organs of apes and humans

D. skull bones of vertebrates

E. all of the species in a genus of placental mammals

33.  Industrial melanism involving the peppered moths (Biston sp.) is cited as an example of natural selection that has been observed in the last one hundred years. Recall that the peppered moth exhibits two distinct morphological types with dark and light colored wings. Which of the following statements about changes in these two types of moths as a result of industrial melanism is true? 
A. The dark forms are selected against in nonpolluted forests.

B. The dark forms are distasteful to birds and are thus safe in polluted forests.

C. The light forms are selected against in nonpolluted forests.

D. Birds prey on the dark and light forms equally and neither morph has an advantage.

E. Dark forms emigrate from nonpolluted forests to polluted forests.
34. Is genetic drift likely to be a larger factor for a population with a lot of individuals or for a smaller population?
A. the larger population

B. the smaller population

C. it will be the same for both.

D. it is totally random and not related to the population size. 

35.  Considerably more phenotypic variation exists in domesticated varieties of species like dogs and cabbage than exists in non-domesticated species like lions and maple trees. Which one of the following statements best explains why this is true? 
A. There is no selection and mating is random under domestication.

B. During domestication, very high rates of mutation are induced.

C. Genetic drift is important because domestication involves small populations.

D. Many domesticated varieties would not survive in the natural world.

E. Domesticated species exhibit "hybrid vigor" (heterosis).

36.    All of the following are true about Charles Darwin except…
A. Darwin observed variation within the finches of the Golapagos Islands

B. Darwin proposed natural selection as the mechanism for species change over time.
C. Darwin used DNA evidence to support the process of Natural selection.

D. Darwin wrote  the book Origin of Species by Natural Selection
37. How does evolution explain the similarities in the bone structure of a bird wing and the 
      forelimb of a horse? ( Homologous Structures)
A. Different functions indicate a common ancestor.

B. Similar functions point to a common ancestor.

C. Similar structure indicates a common ancestor. 

D. Vestigial structures point to a common ancestor. 

38. Darwin discussed pigeon breeding in his book for what purpose?

A. To show off his hobby so all people would accept him as an average person.

B. To show how different fossils may be formed.

C. To show how natural selection will benefit farmers.

D. To show that species can change through artificial selection. 

39. Humans have bred dozens of dog varieties from ancestral wolves. This is an example of 

      A. Artificial selection

      B. Disruptive selection

      C. Natural Selection

      D. Selective selection

40. When the phenotype or gene expression of one gene affects the gene expression of another 

      gene is known as 

A. Epistasis

B. Genetic drift

C. Bottleneck effect

D. Founder effect

41. What time period is known for having large plants and insects that covered the continents?

A. Ordivitian

B. Devonian

C. Selurian

D. Carboniferous

E. Precambrian

42.  In the case of the toothed whales, the fossil record 

A. shows they evolved from fish.


B. shows they evolved from swimming dinosaurs.

C. shows they evolved from a land mammal with hooves.


D. has fragmentary evidence that cannot be explained.

43.  Which combination of characteristics in a population would provide the greatest potential for evolutionary change? 
	A.
	small population, few mutations

	B.
	large population, few mutations

	C.
	small population, many mutations
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	D.
	large population, many mutations



44. Based on the phylogeny shown, we can conclude that species 2 is most closely related to species 

A. 1.



B. 3.


C. 4.


D. 5.


E. 1 or 3 (can't tell).
45. A classical example of adaptive radiation is seen in 

A. peppered moths.


B. mules.


C. Darwin's finches.


D. Hawaiian finches.


E. mainland birds.
46. Two groups of organisms that differ from one another in one or more characteristics and do not reproduce extensively or have viable offspring if they occur together in nature are considered to be different 

A. races.


B. species.

C. kingdoms.


D. hybrids.

E. Cohabitants
47. Charles Darwin argued that evolution is accomplished by the process of natural selection. Which of the following is not important to the concept of natural selection? 

A. Most organisms are capable of producing more offspring than typically survive.

B. Evidence exists that Earth is much older than previously thought.

C. Much phenotypic variation exists within populations.

D. Some phenotypic variation influences reproductive success.

E. Phenotypic variation within a species is due in part to inherited characteristics.
48. The observation that different geographical areas sometimes exhibit plant and animal communities of similar appearance, even though the individual plants and animals are not closely related, is called 

A. the fossil record.


B. homology.


C. convergent evolution.


D. divergent evolution.


E. adaptation

49. Organisms that mate with other closely related organisms are said to be examples of

A. Assortative Mating

B. Disassortative Mating

C. Frequency dependent selection
D. Oscillating selection
50. A type of evolution that occurs when organisms adapt to live in a common environment and take on the look of each other, but do not evolve from a common ancestor. 
A. Adaptive Radiation

B. Convergent Evolution

C. Natural Selection 

D. Oscillating Selection
